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Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her
application for Class Representative. According to the Humanistic Theory of Motivation which
need is he trying to fulfil? / T% BT 39 Ay A remg $31 & e e giar g fF a1 ds

ISP /ITB! BT UfAFARI §97 & e § Heg S| FUTURON & AFadrard! fisia & oaR, 98 foa
STIRGH AT D] [T HIA DI BRI B 6T 82

1. Esteem Needs / S8! 3= dl
2. Self-actualization Needs / 3{T& fa=cIvUr &t TaRgHdl
3. Social Needs / FMHI® TaRIHdT

4. Physiological Needs / fhard® saRgdmdr

Correct Answer :-

« Esteem Needs / S5 3Gl

2) Which of the following idea about learning process is not implied by the theory given by J.
Piaget? / fafafaa ® o9 w1 fauR . we g1 fiw v Rigia & siftrma 3t uftear & Wy & Aifga

&
1. Learning is passive assimilation of given knowledge. / ST T 7T 99 &1 Ffspg sifeyan %I
2. Learning is an internal process of construction. / 3ifeRTy fAmfor @ TS 3fidRe ufhan %I

3. Learning cannot stem from observation or experience alone. /3T Had fddid- a1 3THd ERCERRE
HepdT|

4. The process of learning makes sense in situations of change only. / 31feRTH &t UfshaT Had TRad- Bt
fRufaat & vz & ot 81
Correct Answer :-

« Learning is passive assimilation of given knowledge. / 3iferTH feu T 34 &1 FAfsra ifeydr 31

3) Children belonging to same age group and sharing similar social background are known as

./ U g Tt & g=l BT AT SR U ATAIIG YgYY H /TS HRAT FEIH




ST ST B
1. Play mates / W & I
2. Friends /ﬁlﬁ

3. Class mates /“V'IETI'I_O'CT
4. Peer Group / 1T BT JHG

Correct Answer :-

 Peer Group / Tf 1 dJHg

4) Low student engagement inside the class could be because of - /| F&TF W 87 ot F9
HeHIRET f5g SRUT A 8 gl 8-

1. model based learning / ATSd TR AT
2. Cognitive conflicts / GTTHD Ty

3. Interactive sessions / HATGIHD T

4. the lack of interest / BTd &1 HHT

Correct Answer :-

« the lack of interest / i< b1 HHI

5) Observation is an example of: / 3P BT TP 3qlgrul % :
1. Assessment / 3Thcl-

2. Evaluation / HcdTh

3. Measurement / AU

4, Test / ORT&0T

Correct Answer :-

e Assessment / STh I

6) A disability present in which of the following? /

8?
1. All of these / ITgad T+t
2. Continence, dexterity or physical coordination only / PHad I, ﬁ'Q'UW, 1 IRING =g

3. Speech, hearing or eyesight only / Fae HINUI, 4quT T (S

4. Mobility, perception or memory only / PHad AR, 3&TH a1 Fﬂﬁl

Correct Answer :-



« All of these / Iudad Tt

7) involves a stimulus which strengthens the probability of the expected response. /

H U IS AfRferd gidt 8 i eruféra ufafrar & Iuran &) yad st 81

1. Negative punishment / ThRIHD qUS

2. Negative reinforcement / THIRIHD Y- Sq

3. Positive punishment / hRIHD qUS

4, Negligence / SIERCIF]

Correct Answer :-

 Negative reinforcement / TPIRIHD ':‘1'1@‘1-@1'1

8) Which approach to teaching does strengthen one’s memory? / Rreor & fore

®1-91 TP 01 fohd) ) W ) AoTgd Bar g2
1. Multisensory /E@ﬂ'a'c(pf
2. Visual memory / €Y Wﬁf

3. Tactile memory / TR F:Jﬁ
4. Audio-lingual / N ICBIANICH|

Correct Answer :-

o Multisensory / agﬂéa‘i

9) According to Kohlberg level of morality is determined by social norms explicitly or

implicitly agreed upon by a group of people. / aﬁw & SR, Afvwar F1 TR

: AHEs! gRT Wy ¥ A Ruffyd gar 8 a1 ai il & te 9Yg gR1 WP U A YgHd gidl
I

1. Post-conventional level / USg-URUN® WX
2. Conterventional level / BIeIdRAA &IX
3. Pre-conventional level / tﬁfﬂﬂﬂﬁ&? RIS

4. Conventional level / TRURN® ¥X

Correct Answer :-

« Conventional level / TRUR® &R



What is the process by which information is lost from the long term memory due to nonuse? / dg

witean &1 8, R gr1 Sdeifre e @ S Gaa1 SguaiT 817 & SR eI Sl 872
1. Delay / facia

2. Decay / &4

3. Rehearsal / Ganamg

4, Interference / BW&)W

Correct Answer :-
e Decay /&9

11) What does Kohlberg’s theory of development focus on? /ﬁ?ﬁ"’f% e w s fFaw
Hfae?

1. Moral judgement 1 Afaes fofa

2. Moral behavior / Afd® sadgR

3. Cognitive judgement / IJTHTHD fAofg
4. Judicial behavior / e HaER

Correct Answer :-

e Moral judgement / e o

12) What type of model describes development as a passive, predictable response to stimuli? / fra

UHR T Alsd Mare & e ve fAfesy, srgafa ufafrar & wu # faer &1 qufq sear?
1. Organismic model / Sffiffo® Afsa

2. Mechanistic model / 43dd Alsd

3. Attentional model / 3[R Aled

4. Descriptive model / IUMHTHS AlSA

Correct Answer :-
« Mechanistic model / ¥3dd Al

13) What does OCD stand for? / 318 (OCD) F1 Quf ¥ 1 82

1. Obsessive-Compulsive Design / fieRa-HrHferd %\Jﬂi"l

2. Obsessive-Compulsive Disorder / Hisafa- iy fsgaiiex
3. Obsessive-Cognitive Disorder / istfa. wifdfea fegaiiar

4. Office of Cognitive Design / iy 3T Sifdfca IESIER]



Correct Answer :-

e Obsessive-Compulsive Disorder / 3HeuRyg-FHrfeyg fegsiisy

14) Theories of Child Development explains: / dT¢T faer & Rigia afvfa #d % fb:
1. How children grow and change. / S Y GIGSI 3R gead %I

2. How children behave in schools. / &/ Wg_ﬁ'ﬁ TP IIER FRA & |

3. How children are educated. / & &9 e 81d €|

4. How children react to situations. / aé tlﬁ'@‘lﬁ'{h ff ﬁ Uﬁﬁﬂ:ﬂ aﬁ % |

Correct Answer :-

» How children grow and change. / 5= HY d({aa 3R Sedd %I

15) Which famous psychologist first proposed the theory of Insight Learning from his study of
chimpanzees? / {3 Ufig AaT—® A tgell IR Riuish R 3= f5a 1 sreqa= | Siaef® siftnm &

Ry (Rt oifw gerge @+ &1 wfufea fFar
1. Edward Thorndike / USTS YMSTSH

2. Wolfgang Kohler / BT BIGIR

3. Jean Piaget / ST s

4, Tan Pavlov / ‘s’quTa?ha

Correct Answer :-

» Wolfgang Kohler/ BT PIgeR

16) Which of the following is an intelligence test? / Frafefaa # 9 s=-ar Udh §'@ e %?
1. Locus of Control Test / Y 31 dHeld ¢

2. Sentence Completion Test / AT EUhT TR1&r

3. Myer-Briggs Type Indicator Questionnaire / TR o T3y Hahdd usTae

4. Binet-Kamat Test / fSme-mHd udieor

Correct Answer :-

« Binet-Kamat Test / fSme-smd udieor

17) Which of the following is not a type of reasoning? fFrafafaada -1 Th YPIR BT GEZ
T8I 82
1. Syllogistic reasoning / SUCTHR] ddh (ﬁﬁ[ﬁ%%i SIf=T)



2. Deductive reasoning ARG GG (Fesfaea et
3. Transference reasoning / SRR T
4. Transductive reasoning / URQAN®G® dd (CFHS e JIfT)

Correct Answer :-

» Transference reasoning / SR qh

18) Which of the following is not a gateway drug? / fFrafafea # 9 F=-an Udh Ted Rl T8l %?
1. Alcohol / RRTd

2. Tobacco / AT

3. Marijuana/ Tlm&ﬂ:ﬂ

4. Cocaine / DIDHIA

Correct Answer :-

« Cocaine / BIBIH

19) Which of the following is not the focal point in the process of teaching? / FFrafafaa & 3 -
Rreror 1 witear o I fig T8 82

1. Pupil / 8T

2. Content / ATHH

3. Teaching method / fRr&or fafdy

4, Teacher / FR1&/®

Correct Answer :-
« Teaching method / fRr&for fafdy

20) Which one of the following is the symptom of ADHD? / fRufaf@d # ¥ ®19-11 vdiead) &1 daon

82

1. Boredom / 3Gl

2. Stuttering / gh Il

3. Hypersensitivity/ fadde=iaar
4. Hyperactivity / 3ifar Afebard

Correct Answer :-

o Hyperactivity / 3ifa Tfopaan



21) Vygotsky’s Theory of Language is based on learning theory. / ARt BT HTHT BT
g ftrm & i w smaRa g1

1. Behaviorist / AdgRaTe]
2. Cognitive / GMTHSD
3. Constructivist / ?_tFITa'I—pr

4. Emotional / HIGITHD

Correct Answer :-

o Constructivist / TIATATEL

22) is one of the many ways through which culture affects development. / a@’

TS 7 A TP TP & PR wrer @ Seehy, e &) yHifad svd 21
1. Religion / &

2. Context / FgH

3. Language / HTST

4. Environment / GRQRI

Correct Answer :-
o Language / HTHI

23) is studied under Personality and Social Development. / PI

Y AfRIcd 3N} AT faHr & 3iaiid fpar S g1
1. Egocentric behavior / 31Id-laf.>i-§d ogdalk
2. Memory process / Wﬁm

3. Perceptual acuity / SAYRUTHD 1&UTdT

4. Premature birth / 0T I q\_qc ¥

Correct Answer :-
« Egocentric behavior / 3B %d AIER

24) The purpose of scientific investigative learning in education is: / Rrem o %inﬁm S SffeRTH
W .

1. To encourage collaborative work / m’rﬁ ST DI mT\EIT%H P f%rq
2. To complete the curriculum content / UTGASHH JTHHT Cal T & & fog
3. To build scientific literacy / IS TreRdT o1 AT = &b fag

4. To provide hands-on experience in class / P&l T ge SHd Yald AP forg



Correct Answer :-

e To build scientific literacy / m geral &1 A A1 & ﬁ‘l'q

25) Outlining the expectations from the students will enhance their learnability. This task becomes

part %f: / BT T SUTS BT T B A ST SAFRTH FY &rmar § g ghft1 a5 o e &1 fewar a1
Slldl &:

1. Summative assessment / IRIRId THAT
2. Assessment of learning / ST BT HTHa
3. Assessment as learning / ST & =4 T 3fTdhed

4. Assessment for learning / ST & forg s

Correct Answer :-

» Assessment for learning / ST & Y see

26) When social values and beliefs are deliberately changed in an individual, it is known as

aawmqﬁﬂsﬁvumsﬁaﬁﬁmwmm%ﬁvﬁaﬁaw%mm% a‘rsﬁ
Y ST ST 8

1. Secondary Socialization / IEGIREERS ISR

2. Primary Socialization / T fPreh JHTSIRROT

3. Anticipatory Socialization / TR AT RUT
4. Re-socialization / G: - TS HT

Correct Answer :-

» Re-socialization / Y - TS T

27) “Practice makes man perfect” can be example for which law of Thorndike? / “3¥TH HJ® Ca|

afRrguf g7 2 1+ uifese & frd fraw & e Ierevur 8 goar @2

1. Law of exercise / 3/ &1 fHgH

2. None of the above / SURIad H I Tﬁ'sc '_-léjf
3. Law of readiness / dcdRdl & {199

4. Law of effect / THTd &1 g9

Correct Answer :-

« Law of exercise / 3119 &1 g



“The Hierarchy Theory of Motivation” is a theory proposed by: / “TROTT BT SJPH Rrgiar 3"'{33
gr1 ufaurfea fasar war:

1. Abraham Harold Maslow / SdlgH %ﬁ@' IS

2. Le Semyonovich Vygotsky / ot RAifaa argtic!
3. B.F. Skinner / Eﬁw PR

4. Jean William Fritz Piaget / S faferad flhest foarst

Correct Answer :-

e Abraham Harold Maslow / §lTgH %QTQ’S e

29) CANCELLED

Which of Marcia’s types of identity status is characterized by a crisis leading to commitment? /

TR & {9 TR $ vgar # fRUTY Y 30 G201 gRY vg=mn S @ o ufdagan et 22
1. Identity achievement / Ugdl+ SUTdI

2. Identity moratorium / YgdI SR

3. Identity diffusion / Ugdld UHIR

4. Identity foreclosure / Ugdl- BISIGR!

Correct Answer :-

o Identity achievement / Ugdl+ 3UcTsdl

30) What is called education acquired without any specific purpose, fixed period and

pIace?/Wﬁﬁl’EG@'@, ﬁfﬁaeﬁfﬁaﬁvw%ﬁmm%a&r&nﬁwwm%?
1. Formal Education. / 3TTaTRas fRref

2. Informal Education / 3{oaTies fRref

3. Indirect evaluation / 3TY& Hedlh1

4. Individual Education / SafeTe fRr&

Correct Answer :-

« Informal Education / &@W@T&ﬂ

Topic:- General Hindi (L1GH)

1) Rier fiFw 36 o=l 3 Yot arh o8,
g¢ R ¥ +ft 3 fie & =t srarh <A,
T 5% STeTd) B FHa gea s A,



w p¥ft &1 S &1 Ja 991 | o At

TP I3t G WG H, 98 dadR R A,

ga geardl & He gH Gl per o,

T IS} AeiHl a8 df it arelt T i

PHHER S A1 B, Ygaldl g1 ot A,

agHtaTS AT, e 91 95 da st A,

AT & T ugd! ot g, A & G Qe A,

TS, T, PUIYT, HeR) ITB! gd) Goell A1

AR Rrarslt 3t My IuH a1g war &,

4o gRaal & 4§ g9 it B A,

T a! wei-it ag ol S areht I A

et i a1 gt R 95 Wd IRar Y AR,

39 #R1S Yafohd gid IS daaR] & IR,

THdl JH-g DI 7T 3R [T G RPR,

= W, gt A 3 3 39 g f@wars |

ST UL $) UgH 4 [P WM a1 U= BT I«i¥ qarsy|
uy: Hfaar & T F g fQears fe= waf &) we1 1 82
1. Had Ahdll JG-ogg Pt 1

2. Had I YA, il e

3. HId o RIBGR AT

4. Iuad T+t Hrd

Correct Answer :-

. IqYed Wit wrd

2) figra= fea 33 Trera=n 3 y@pdt arit A,
¢ yRa A oft o v A it ot A,

Tt g% ST A Fod T v A,
 p¥ft &1 w3 Bt J9= 11 | ST At
THS ISt I WG H, 98 aaR AT A,
gad el & de g it wer R,

T IS) Aeil a8 ) it areht T i
FHER F A1 B, Feareh g5 odie A,
agHiaTs AW, frar $1 95 Hara sl A,



AT & H ygd! ot 98, A1 & G Wt A,

TS, T, PUI, FeRI STB! &t qRelt At

IR Rrarsh #1 MU ITH! AT T A,

gdd geatel & Hg g9 Gt per @,

T IS} Aei-l a8 df it arelt T i

et At a1 gt i 95 Wd IRan B AR,

39 RIS gafed gid IUPT aAaR] & TR,

THdl Jg-ogg DI 7T 3R DT G RFR,

/= TR, gl e A 3 3w i fwars |

IUYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja13¢|
w: ‘g FFaht &) H Bt Ja 97 § o f &1 7 aaaq 82
1. gHT &7 7 R T T

2. UG H W BIE el

3. Ga i U T I QX B b1 Gt ot

4. ST 3R o7 ST A Rl &t @ e &1 Ay fear ar

Correct Answer :-

o TSI 3R ST ST A bl ot @A o1 fRer fram

3) Rigra few I W@ 7 Yyl ari o,
¢ WRd & ot 3 v & =7t srarit <A,

T g€ ) B Fraa we vgErE A,

T et ot o oY a1 79 9 31 A
THS ST T I H, 9§ qaar R A,
430 gRatel & He gH N Bl @,

T <) AeiHl a8 df it arelt T i
PHEYR & AT B, Yearen 98 Datat A,
defiarg A, fUrar 3t 95 Ha st o,
AT & T gt At 98, A & G @t A,
TS, T, P, TR SHS! Tg1 Agert A
IR Rrarsht B MU @t ar1g war A,
93d geatal & He gad i e 4,

W @St walt ag at i areft I dhi
aet <&t a1 gt i 95 W diven B @R,



W WIS YA gid IUP! qe@R] & dR,

TH! J5-og DI 9T R Qa1 G PR,

= W, gt de 3 3 39 g f@wars|

ST Ui ®) UgH 4 [P WM a1 U= $T I«iX qa1su|
u: f5a STl &) Bua gas! Tust ¥ o g A2

1. TH g2 AT He T8 83

2. OIS SIS

3. didbdifAd TS

4. Sl 3freTTet Ured ot

Correct Answer :-

- g AT s g

4) Rigre fda 3 Tora=i 3 Pt arit Af,
¢ yRa A oft o v A it ot A,

Tt g% ST A Fod T v R,
 p3ft &1 S Bt Ja= 11 | ST At
THS IS I WG H, 98 aoaR RAT A,
§3d gedtal & Yg gH G perl 4,

W @St walt ag at i arelt I i
FHER F A B, Feareh g5 o A,
weHtars I, T #Y 98 Gar erpelt A,
AT & H ygd! o 98, A1 & T @t A,
ST, T, PUIVT, FeRI ITP! TGt Agat A
dR Rrarsht #1 MU ITH! ATg T A,
440 gl & 4 g9 G B A,

T w! wei-t ag af S arent I A
et A a1 gt i 95 Wd IRan Y AR,
3@ RIS gafed gid IS aAaR] & TR,
T IS5-g Pt 91 3R W GE RN,
= R, g dis 3 A S g fewars|
IuYad U= B Ugh? 19 YD 9M 9T U= $T Sk a3t
wy: frad R &1 MUt I agiars @ gegart arg oA
1. AT Y i



2. IR fRrarsh ot
3. HERIUM UdTd &1
4, AT HSUENY Bt

Correct Answer :-

. dR fRrareit &

5) Rigra fga I3 wora= A Yyt arh &,
¢ yRa ® ot 3 v A Tt wrart A,

T g€ ) B Fraa T ugErE A,

o fhaft ot B 3t e g9 & o <A
THE ISt T HATEH H, 98 aaaR R A,
§ad et & e g g derh R,

T a) wei-t ag ol S areht I A
YR & A1 B, Yeaie g8+ odra A,
wgiarg A, frar $1 98 "ar st A,
AT & H ygd! ot 98, A1 & G Wt A,
TS, T, P, FeRI TSB! gt wgat A
IR Rrarsht B MU ISt a1g war A,
§3d gl & Yg gH Gl perl

T IS} Aei-l a8 df it arelt T i
et At a1 gt i 95 TW@d IRan B eEAR,
39 RIS gafed gid IUST qAdR] & TR,
TN G5-g P 1 3R Ve GE RN,
/= TR, g e A 3 3w i fwars |
IuYed U=l B Ugh? 19 YD WM 9T U= $T Sk Jast|
UY: SaTsd 5 3 ¥ v R & w1y agdtars =8 @t 9
1.3

2. eldd

3. heRl

4, BT

Correct Answer :-



6) Rigre fRa 3& wera=it 7 yHét arit o,
¢ yRd A oft 3 v A it et A,

T g€ ) B Praa T ugErE A,

= fp¥ft &1 w &Y Ja= 71 | ST At
THE ISt T HUEH H, 98 aaaR R A,
430 gRaiel & He ga G Bl @,

T a! wei-t ag al S areht I A
PR & 1 B, Ygaie g8+ ot A,
weiarg A, T $1 a8 "ar st A,
AT & H ygd! ot 98, A1 & G @t A,
TS, T, UV, PR IUD! Tg1 Woerl A
IR Rrarsht & MU ISt a1g war A,
930 gl & Yg gH Gl perl i,

T IS} Aei-l a8 df it arelt T i
et At a1 gt i 95 Wd IRar Y AR,
3T WIS YAfFd g IAP! d@aR! & R,
TPl G5-gg P 1 3R W GE RN,
/= W=, g e 3 3 39 i fwars |
IuYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja3t|
wy: Tt A A frae! frad @R & @1 o A
1. TRl & S |

2. foo it & =15t

3. WA HI T I

4, T3l 1 HRA I

Correct Answer :-

. A & HRA I

7) Rigra= fea 33 Iora= A Yt arit A,
¢ WRd ¥ ot 3 v & =7t srari <A,

T g€ 3 B Fraa we vgEr A,
 fft &1 S &t J9= 991 | o At
THS IS1 I 916 §, 98 dadR QR o,
g¢ot gRaiteil & e g9 Gt el @,



W @St walt ag ot e arelt I dhi

FHEYR & A1 B, Ygard! g1 oara 6,

aetars A, T Y 98 Ta srbelt A,

AT & 7 g A ag, T F FU Qeft Y,

ST, TTA, PUIVT, FeRI IAP! Igt Agat A

dR Rrarsh @t MU SHw! are Tl A,

43d geatal & He gH g P A,

T a) wei-t ag af S areht I A

et A a1 gt i 95 Wd IRar B AR,

W WIS YA gid IUP! qeaR] & dR,

THdl JH-ogg DI 7T 3R [T G NP,

A7 A, gl Ae A A 39S fra fR{wars |

S Ui $1 UgH 14 UD WF 1d U= HT Ik qarsu|
WY TS 31 1 Jaraq A F fory 9 FT 3R 3R A wan &2
1. 1857

2. 1957

3.1757

4. 1657

Correct Answer :-

o 1857

8) Rigra= few 3 =& A Yyt ari &,
¢ YRa A ot o e A it srart <A,

T g€ e} B Praa T ugErE A,

o fhaft ot B 3t e 99 & o <A
THS I1 T I H, 9§ qaarR R A,
43 gl & 4 g gt werh A,

T w! wei-t ag al S arent I
FER F 1 3, el g o 0,
AgHIars A, fUar &Y ag Jar st oft,
AT & T gl At 98, A1 F FU1 Qe A,
TS, T, FUIVT, TRl TSB! Tgt wgat A
IR Rrarsht & MU IS a8 Far A,



§3d gl & Yg gH G perl o,

W a) uel-t ag ot il areht 3w R

aeHt <&t a1 gt i 95 W e B sEaR,

3T WIS gafed gid IAPT aAaR] & TR,

qHe g5-ogg DI Ta1 3R Ve G ReR,

A= TR, gt A 3 3 39 i f@wars|

ST UL B UgHR 1 IS 9 a1d U= $T Ik qarsy|
wy: HarE A deht ol gt dewr I agiarE B fPaeT saaR we1 82
1. STl BT

2. TTadl Bl

3. dRAT BT

4. Ritaell 1

Correct Answer :-

« dRAT®I

9) Rigry= fea 3 wwa=n A Yyt art A,
¢ YR ¥ ot 3 v & =7t srarit <A,

Tt g€ Sreid) o Fiue T veErE 4,

W p¥ft &1 A &t J9= 971 | ST At
THS I3t G WG H, 98 aadR R A,
ga gatdl & He gH Gl per o,

QY a3} Al ag o i arelt T A
YR & 1 B, Ggaicl ag+ Ddra A,
deHiars A, fUar #Y ag Jar st oft,
AT & T ugd! ot g, A & ST Qe A,
TS, T, PUTYT, HeR) ITS! gd) Goell A
IR Rrarsh #1 MU ITH! aTg Far A,
430 gRatel & He ga g Bl @,

T a! Hei-t ag ol S areht I A
ae&Ht <t a1 gut < 98 Tad dRar B AR,
W RIS Gafrd gid IUPT dadR] & IR,
THA! g5-oF DI 9T R W G PR,
= 9T, gl Al 3 A 39 i feaars |



S Ui B UgH 14 UR WF 1d U= $T Ik qargu|
T: SARE A I AgHEE Bt doHl [Bad Yo S g A2
1. fordt @ =1t

2. §adl-gralal 9

3. 3O A °

4. U TR & AN 4

Correct Answer :-

. god-gRad 4

10) Rigra= fRa IS wora=n A ypdt arit A,
¢ YR ¥ oft 3 v & =7t rarh <A,

T g€ e} B Fraa T ugErE A,

X 3t o) FeA 3t e 7 A B <
THE ISt T HAEH H, 98 aaaR R A,
§3d gedtel & Yg gH G perl i,

T a! wei-t ag af S areht I A
FER F 1 F, Ygaleh g S &,
agtars A, fUrar 3t a5 Har i o,
AT & G gt At 98, AT F FU Qe o,
TS, T, FUIT, TR TSB! TGt wgat A
IR Rrarst & MU ISt a1g war A,
gdd geatel & He g9 et per

T IS} AeiHl a8 df it arelt T i
et At a1 gt i 95 W@d IRan Y AR,
W WIS gafed gid IUPT qAaR] & TR,
THel g5-og DI TaT 3R Vel G RPR,
= R, gl dis 3 A 39S g feaars|
IuYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja3t]
TY: 39 HIadT § YIRd B ggT I HaT 197 82
1. FTH A HIS Tl

2. IG1 Bt (YD WA &S HRUI

3. HRd &1 UTH-dT & HRUT

4. AR B YbTH &b HRUI



Correct Answer :-

« YRd B! Ul & BRI

11) Rigrae ffa IS wrora=n A Yyt ari A,
¢ YRa # ot o v A At wrari A,

T g€ 3 B Frea we vgEr A,

W pft &1 S Bt J9= 991 | o At
THS I3t G WG H, 98 qaaR R A,
ga gardl & He gH Gl per o,

T IS} AeiHl a8 df it arelt T i
PHHER P A1 B, Ygaldl g1 odre A,
deHiars A, fUar #Y ag Jar srdbat oft,
AT & T ugd! ot g, A & ST Qe A,
TSI, T, UV, TR} IAD! T wgelt A
IR Rrarsh # MR ITH! aTg T A,
gaet gRalal & He gaq gt derl o,

T a! wei-t ag ol S areht I A
et i a1 gt i 95 Wd IRar Y AR,
9 RIS Gafrd gid IS daaR] & IR,
THdl JH-g DI 7T 3R [T G NP,
A= R, g s 3 A 3uS g f@aars|
ST Ui Bl UgHR Hd IR WM 1 U= $T Ik qargu|
TY: 59 Biaar | el frd wer mar 32

1. ISl ¥ 3HTT gaierdl ol

2. forTeT 1 o T 81

3. 31018 ¥ 31T 3T i

4. 1 ¥ 1Y TR &

Correct Answer :-

. 3iS W MY SIS P

12) Rz fda 3¢ woa=n = ypet art <R,
¢ YRd ® ot o fibe I =Y Sarh <,

T & ool 9t Fwa wa ugarh A,



w pft &1 A &t Ja= 991 | o At
THS I3 G WA H, 98 qadR R A,
ga gardl & He gH Gl per o,

T dS) AeiHl a8 df it arelt T i
PHHER S A1 B, Ygaldl g1 ot A,
wgHiaTs A, frar 31 98 Hara sl A,
AT & T ugd! ot 98, A & ST Qe A,
TS, T, PUIYT, HeR} ITB! gd) Goell A1
R Rrarsh #1 MU ITH! aTg Far A,
ga<t gRalal & He gH gt derl o,

T a! wei-it ag al S areht I A
et i a1 gt R 95 Wd IRar B @R,
9 RIS Yaford gid IS daaR] & IR,
THdl JH-g DI 7T 3R [T G NP,
/=7 R, gl s 3 A 3uS g f@wars|
SUYa Ui $I UgH? 1 IR W 1 YA $T Sk qa15¢|
TY: $H HiadT F YR R Ta15d 1F Faleh &1 vha fast s 82
1. STSIRTT URIET &1 3R

2. 3TN Bt 3R

3. 4RI Ud &1 3R

4, A BT IA BT 3R

Correct Answer :-

. I BIIA BT SR

13) Rigre fRa 3 Tera=i 3 ypdt arit A,
¢ yRa A oft o v A it et A,

Tt g% ST A Fod T v R,
 p¥ft &1 w3 Bt J9= 91 | ST At
THS ISt I WG H, 98 aaaR RAT A,
§3d gedtel & Yg gH G perl o,

T IS) Aeil a8 ) it areht T i
FHER F A B, Feareh g5 odie &,
agHiaTs AW, T $1 95 Hara st A,



AT & H ygd! ot 98, A1 & G Wt A,

TS, T, UV, FeR IqP! T wRe A

IR Rrarsht #1 mAR ITH! AT T A,

Yoo gl & Yg gH Gl perl i,

T IS} Aei-l a8 df it arelt T i

et At a1 gt i 95 Wd IRan Y AR,

3T WIS YAfHd g IP! T@aR! & R,

THdl J5-ogg DI 7T 3R DT T RPR,

/= TR, g e A 3 39 i fwars |

IUYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja13¢|
UY: 39 Pfadl & YR W Farzd for agfiarg & feaa uig-gg=1 &2
1. Hadl & SUHT B forh a1 5|

2. g I eI 5|

3. AEHaTS SU+ Ut &1 Sfavett dar ot

4. T UTS-Ueb S5+

Correct Answer :-

. qeiaTs 3 fUar 1 sibat Iam ot

14) Rigra fewr I Teax A Yyt art 4,
¢ WRd ¥ ot 3 v & =7t srarit <A,

T g€ ) B Frad Fe vgEr A,

T et ot T oY a1 79 9 3T A
THS ST T I H, 9§ qaar R A,
430 gRatel & He gH N Bl @,

T <) AeiHl a8 df it arelt T i
PHEYR & AT B, Yearen 98 Datat A,
defiarg A, fUrar 3t 95 Ha st o,
AT & T gt At 98, A & G @t A,
TS, T, P, TR SHS! Tg1 Agert A
IR Rrarsht B MU @t ar1g war A,
93d geatal & He gad i e 4,

W @St walt ag at i areft I dhi
aet <&t a1 gt i 95 W diven B @R,



W WIS Yafdpd gid IP| qe@R] & dR,

THdl JH-E DI 7T 3R [T G NP,

= W, gt de 3 3 39 g f@wars |

ST Ui $) UgH 9 [P WM a1d U= $T I«i¥ qarsu|
Ty I+ dEHaTg 3 daaR! $ IR T@HY B qafed gid A2
1. 30T

2. 910t

3. RIS

4. TOHATS

Correct Answer :-

15) Rigra= fRa 3 wora=n A ypdt ari A,
¢ yRa ® oft o v A it o A,

Tt g€ STeid) Y Fua Fa veErE 4,
 p¥ft &1 S &t Ja= 11 | ST At
THS ISt I WA H, 98 aaaR XL A,
§3d gedtal & Yg gH G perl 4,

W @St walt ag af i arelt I i
FHER F A B, Feareh g5 o A,
weHtars T, T #Y 98 Har erpelt A,
AT & H ygd! o 98, A1 & A @t A,
ST, TTA, PUIVT, FeRI ITD! TG Agat A
dR Rrarsht #1 MR ITH! ATG T A,
440 gl & 4 g G B A,

T w! wei-t ag af S arent I A
et A a1 gt i 95 Wd IRar Y AR,
39 WIS Gaford gid IS qaR] & IR,
T GS5-gg Pt 91 3R Ve GE NN,
= 1, g dis 3 A S firg feaars|
STYT U Bl UgHR -11d I 9 a1t Y= $T SR qarsy|
uY: Wgd Hfaar ¥ ‘Rigrae ffa 37 A frad Rignaa & fa 3o+ &1 forp 82
1. TS SAGION &



2. 3Gl &
3. R Ramgdi &
4. AR fageiar &

Correct Answer :-
. YRaE Raraal &

16) THR 3T B AIGdiAD IRIT Pt UGl HS! U 99 §§ o9 HIHT TR SATTIR Il BT TS gaiml Tn
gt foram war aifds T 81 HTHT S aTat A1 U 81 IS0 | 3§ b | B I BT TS YT & ATYR IR
T8 afep e, AT, Tpfa, 3nfe F MR W gam; I ANd's, IWIES R RIS | YR Jg B
oot wdiem ot gt S yrer Aif1 gER ARy A A of wrwr &Y g urer &1 gof a9 e @1 ’E @
PTG U1 & =0 H "= fyeft | afes= i Faar 409 uRdal $t arqumn 31 gaferd gust yrrsi #t
& & o $ wrauT 9918 A | fEE & s, 21 3w yrwre @Y WA gRT srggfa HIeT %1 gui fean
AT 8 | ATSATEL & a1 & ARG oy # ) &1 - & & 410 o3 3t Sk 78 $t 1)

Fg MR T5U & R2a: Fg 3R T59 & 99 & Redl & gfed ¥ g9l g saawam &) iR aa e 31
TS} F I TP @a THT 9F YR P ISR el | bg 3R 39 & T 8 Ul &) IR go Feit At
I fel wrRa # S99 $t diturel gadt f 39 R § 5 WER SR 69 WHR & USRI Ft
Jraear Bedt 4t T PR gRT SR Hff w@ufedr fimm w o3 Isul W wgufa W ang @ e
ST AT

1989 & T1¢ ¥ % T TSTUT WRPR BT SR TaAT| §HP UNUIREGEY g IRBR Pt W@rAwdr & T R
T H ArgieRt &Y A3 uRurd 3 g3 1 A1 H9T o Aohal ¢ F 3@ Ra A wvita srawi w1 e yad g3
211991 B} TUFT & AR URA H 1500 ET-S(T HTHTE &1 FT HTHTSH B $© BT YIWIaii & Jqg o
T T B | ITeR01 & o Wieig sy, wneht, Seerast, oiiarel, v, ofielt 8fik ®5 s urwnaif &1 f&dh
F I o @1 T 31 fafte yrwrel & 9 9 & a1 ot uRa A 114 g1 YT €1 399 | 22 HTwnei at
ﬂﬁs%q%msa%zﬁaaﬁﬁawaﬁaﬁﬁwﬁmwﬁl 3T HTHTSHT BT S-S HTST Hal
EIGIE]

ST TR B UghR 1A IS T YR P Ik Ia13¢|
UY: /9 TP ¢ 1 $g § WHR Al a1 350 WPR] & AfYPR] BT 1 Beal A2
1. UTeH

2. 3{dgaHl

3. HIH-HHIT

4. 9 ol

Correct Answer :-

17) TUR I ¥ AIGdiiA® TaRIT Pt Ugl HS! UIST 99 §§ o9 UIHT TR TR 74l &1 TS+ gaiml Tn
gt foram Tt a1fds T €Y HTHT S aTat AT U €1 IS0 | 3§ b | B I BT T8 HINT & ATYR TR
8 afep A, ST, Tpfa, 3nfe F MR W g3, S ANd'S, IWIES R FRTS | YR W9
oot wdien At gt B yrer Aif1 gER SRy A A of urwr &Y g urer &1 gef T e @1 ’RE
STTYBTIRG UTHT & =0 § Ar=uar firet | afd= fF Faa 40 URdRN o1 argurer 81 saferd gast utwrai
& & o $% wrauT™ a91a A & & e, 21 3T YT Y WA gRT g HTST &7 gui fear
AT 8 | ATSITEL F a1 & ARSI vy § ) &1 - & & 41t o3 3t Sk 78 1t 1)



¥ R T & N2A: Fg 3R 9 F d9 & Rzal & gt I gart 6 gawit o iR ga fer g1
SATATE & 91¢ TP Ad JUY a9 YR & SIS el § $5 3R 7o & TP 8 UTel ) IRPR g Hedt A
A fel wRa # o109 $t Attt gadt F 39 A # S5 MOR SRR I WER & ATUSRI Ft
Jraga Bedt 4t I PR gRT sRI-A Wt T@ufear fiam w o3 wsul w agufa wre oy 1 e
ST AT

1989 & 91¢ ¥ % T TSTUT PR BT G TaAT| 3P URUIMGRY Ied IRBR Pt W@rawal & T iR
T A ATSieR! B A5 uRuTdl IE g3 1 VAT H§T o Tl @ b 3 YRa A ey a1 $t Sifte vad g3
211991 B} FHIUMT & AR UIRA H 1500 SET-SMET HTHTE 3| 37 HTOTSH ) $© oI yrwrait & wqg o
@1 T 81 351870l & ford WieTgd, woreht, g o, wiadl, Iy, ofieht ok 33 sy wrwrait o1 &
& Igg § @1 T 21 Al ymwrel & g a9 & 9t ot uRa o 114 =71 YOI § 1 399 | 22 TS &t
#ﬁ?%mﬂaﬁzﬁmwﬁaﬂmﬁwwﬁl 3T HTUTSHT P 31-3rIfera HTST gl
Srar gl

ITYe TR Y USHT 19 IR T U= $T I« 9a13¢|
UY: YR G Y gast wdiem & 42

1. JSTUTdl o1 fgfad

2. Xl 1734

3. HTT-Hifd

4. yUfa &1 Fafas

Correct Answer :-

18) THR T H AIGdiAD IRIT Pt UGl B! SIS a9 §§ o9 HIHT TR ATUTIR 14l BT TS gaiTl Tn
gaferd foram war a1fds T 8 HTHT S aTet AT U 81 IS0 | 3§ b | TS I DT TS U & YR TR
2t afep e, ST, Tpfa, e & UR W gam; I ArTd's, IWIES R FRTS | YR Jg B
a8 Tdigm At g5t Bt wtwr i) TR WY 7 A R v ) g v @1 gt T8 e @1 =’ @
MFAUPBTRE YT & =0 & wr=ran firelt | afdes & Faa 40% YRS & argumar 31 safer) gt yrarei &
T & o &S wau™ s A &Y & srarar, 21 3= UTWISH B WA gRT Srgfua WiT &7 gwf fean
T 1 AT & a1¢ & Afrepizr gvg # fEd &1 - &3 # 210 w1 &) FifRr a8t S s |

Pz 3T T5U & R2a: Fx 3 I59 & 99 & Redl & gied ¥ g0l GHig saqwat &) 3R aa e 31
STATE & 91E TP Ad JHY db YR b SIS el § H5 3R 7o & TP 8 el ) TRPR g wedt At
S e WRa | S0 3 AT Iad d1 39 A # $5 WPR SRR T WMOR $ ARSR] a1
Jragar Bedt 4t I PR gRT sRI-A Hff T@ufedr fiwm w o3 wsul W agufa wee ang % e
ST AT

1989 & T1¢ ¥ % T MU WRPR BT SR TaAT| TP UNURGREY g IRBR t W@HAwdl & T R
T H ATierR) B A5 uRurdl IE g3 1 V9T HET o1 Tl @ b 3@ YRa A THig uawi1 $at Sifte vaa g3
211991 Tt FTAUFT & AR YR F 1500 -3 HTUTE § | 37 HTHISH Ht $© GBI utwisil & agg o
T T 2 | ITeR01 & o Wieig sy, wneht, Searast, Biiarel, worri, et 8fik o5 =g urwnafi @1 f&dh
F Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa § 14 =1 YTt €1 399 | 22 HTwnei at
#ﬁ?%&mea@zﬁsaqﬁawaﬁaﬁmﬁwwﬁl 3= WIS B 3f-3JgfUd HTST FHgT
AT g1

IUY T T B UgHR 1 IR T U= P Sk qa15¢|

TY: ITATE! & TG TS THY TP D5 MR SHUHT I4l | fba- gall $1 WOR Teit?
1.

2.3



4. IR

Correct Answer :-

19) THR AT H AIGdiAD TIRIT Pt Ugll S U a9 §§ o9 HIHT TR ATYTR Il BT TS gaiTl Tn
gaferd far Tar a1fs Te & UTHT e aTd AT U &1 X1od W I b | $S Sdl BT TS HIHT & YR W)
2t afep A, ST, Tpfa, onfe F MUR W gam; I ArTd's, IWIES R FIRTS | YR Jg B
a8 Tfigm At a5t Bt wtwr i) TR WY F A R v ) g v @1 gt T8 e @1 =’ @
MBS YTaT & =0 & wr=ran firelt | afde & Faa 40% YRS @t argumar 31 safer gust yrarei &
T & o +S wau™ s | &S & srarar, 21 3R WIS B WiAUT §RT Srgfua WrT &7 gwf fean
T 1 AT & a1¢ & bz gvg # fEd &1 - &3 & 210 oA &) FifRrr a8t S s |

Fg 3T T5U & R2a: Fx 3R I59 & 99 & Redl & gied ¥ gur) aHig saawat &) 3R a0 e 31
TS & 91¢ TP dd UG a9 YR P SIS ol § o5 3R 7o & T 8 uTel ) TRPR g Hedt At
A fel wRa # S99 $t dFrel gadt 39 A # % WMOR SR I WER & ATSRI Ft
Jraga Bedt 4t I WPR gRT sRI-A Hff T@ufear fiwm w o3 wsul W agufa W ang % e
ST AT

1989 & T1G A % T TSTUT WRPR BT SR TaT| §HP UNURGEY T IRBR t W@HAwdl & T R
T A ATierR) B A5 uRurdl I® g3 1 V9T 8T o Tl @ b o YRa A THig uawi1 $t Sifte vad g3
211991 Tt FTUFT & AR YR F 1500 S-S HTUTE § | 37 OIS $t $© GBI UTwisit & g o
T TT 2 | ITeR0N & ford Wierg sy, wneht, Searast, Biienrel, vorri, et 3fik o5 =g urwnafi @1 f&dh
F Igg ¥ @1 T 31l yrwrel & 9 9 & 9t ot uRa A 114 =1 WTaTe €1 399 | 22 HTwnei &t
#ﬁ?%mea@zﬁsaﬁﬁawaﬁaﬁmﬁww%l 3T HTHTSH BT S-SRI UTST FHaT
STl

ST TR B UgHR 1 UD T U= o1 Ik Ta1su|

UY: TR S W ABAIAD HGEIT DI UG Dt USIET H9 §32
1. GfAY™ aF] Hd I8

2. HfAY™ AN Hd TG

3. UTNTAR AT o T34 & 99

4. fAatem & g

Correct Answer :-

o YINTAR Al & T3 &b THT

20) THR X ¥ AGAiND aRIT Bt Ugdl B3t URIET a9 §3 od HTHT TR TR IS BT TS+ g3l Tar
gt foram war aifds T 8 HTHT S aTat AT U 81 IS0 | 3§ b | O I DT TS U & YR IR
T8 afep N, ST, TPpha, e F YR W g3, I ANTd's, IWIES R FRTS | YR Jg B
oot wdiem ot agt Bt yrer Aify1 gER WRue A A of wrer &Y g wrer &1 gof a9 e {1 ’E @
BTG T & =9 & "= fyeft | afes= i daar 409 uRdral $t argumn 31 gafer gast yrrsi #t
T F o w3 wau™ 391 | Y & srarar, 21 3R UTHISH 1 WA gRT Srgfua WrT &7 gwf fean
T 1 AT & a1¢ & iz gvyg # fEd &1 WR-E a3 & 210 w1 &) SRy 98t S s

Fg 3R T5U & R2a: Fg 3R I59 & d9 & Real & gied ¥ g9l g saawat &) 3R aa e 31
SATATE & 91¢ TP Aa JHY a9 YR P SIS ol # H5 3R Ty & T 8 urdl ) IRPR g wedt At
S faAt WRd @ Sigw B Aiel gadt 91 g7 A § % WER SRR I5T WHR & SDRI B



AT Bl AT | Iy WBR GRT SRI-A W Tufear i@ W o5 wval W Agufa T+ arg & fau
STl AT

1989 & TG A % T MU WRPR BT &R TaAT| §HP UNURGREY g IRBR t WAl S T R
T A ATierR) B A5 uRuTdl IF g3 1 V9T 8T o1 Tl @ b 3@ YRa A THig uawi1 $8t Sifte vad g3
211991 Pt FTUFT & AR YR F 1500 -3 HTUTE § | 37 HTHTSH $t $© GBI UTwisit & g o
T T B | ITeR01 & ford wierg sy, wneht, Searast, Biianrel, vorri, et 3fik &5 3= urwnafi &1 f&dh
¥ Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 114 g1 YT €1 399 | 22 HTwnei &t
ﬁ?%mea%zﬁsaﬁﬁawaﬁaﬁmﬁmw%l 3T HTHTSH BT S-SRI UTST HaT
STl

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|
wy: i§ & f6a e B o & = F A= fedt:
1. ATTHINT

2. frdt & u o 7

3. JTFHTHT

4. STABTRD HTHT

Correct Answer :-

o SMMYBTING HToT

21) TUR N ¥ AhAiiNS a1 B Ugal B3t URIET a9 §3 od HTHT U TUTRT IS} BT TS+ g3l Tar
gt foram T aifds T 81 HTHT S aTat AT U &1 IS0 | 3§ b | TO I BT TS YT & ATYR IR
T8 afep e, ATdiadT, Tpfa, e F MR W g3, I ANd's, IWIES R FRTS | YR W9 B
oot wdiem ot gt B yrer Aify) gER WRum A A of urer #Y g urer &1 gef a9 e @1 ’E @
RIS U1 & =0 H "r=an fyeft | afes= & daar 409yl $t arqumn 31 gafert gast yrrsi #t
& & o $ wrauT 9918 A fEE & s, 21 9w yrwre Y WA gRT srggfa HIeT %7 gt fean
AT 8 1 ATSITEL F a1 & ARG auy & ) &1 IR-FE & & 41t o3 3t S 78 #t v

F5 R T F R b 3R I8 & 9 & Rzal F g § gArR) Gy sgaw &1 3R g e 21
SATSITEL F I TP @a THT 9% YR P ISR el & bg 3R 359 & T g urdf &) TR gon ot &t
3 Al yRa | S99 ot @il gadt F 39 A % WER SRR IT69 WIR & ATUSRT
JageT Hat At I WHR gRT SR f Wufear @™ w® #F wsaf w wgufa 2 oy = fea
ST AT

1989 F 1¢ A g W TEaYT PR BT g TaAT| TP URUTHRGTY IoT IRPR $1 Wrawdl & T 3R
T H AieRt B A3 aRurd 3% g3 1 U1 BT o Aohar ¢ % 3@ YRa § wvita srawi w1 e yad g5
211991 B} TUMT & STAR URA H 1500 ET-S(T HTHTE 1 FT HTHTSH B $© BT YTurai & Jqg o
T T 2 | ITeR01 & o Wieig sy, woneht, Searast, oiiarel, v, ofielt ofik o5 =g urwnaif &1 f&dh
F Tgg o @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 14 g1 YTOTE €1 399 A 22 HTwnei &t
ﬁﬁu;%msa%zﬁemﬁaweﬁaﬁﬁwﬁww%l 3T HTHTSHT BT S-S HTHT Hal
EIGI]

ST TR B UghR -1 IS T U= HT Ik qa13¢|

WY ST WRPR GRT SR1-A oft Taufgar fe@m w wrwai & a1y «n giar 412
1. 3IEH H FHerdt

2. FUfd AR A1,

3, JHIY | S0



4. JTaYyT= § HH

Correct Answer :-

SRS CRISEESIUS

22) TUR ¢ H Aihdifs oIawIT BT Ugelt B! WIS a9 §5 oI HIHT U MR Il BT TS gaiTl Tar
i foram war aifds T § UTHT S aTe A U €1 IS0 W 3§ AP | O ISl BT TS U & 3TYR TR
8t afep e, ST, TPpid, e F YR W gaT; T ANTd'S, IWIES R FIRTGS | YR Jg B
Tt wfiem f gt @t Wi Aifd) sEr Ay A et off w1 g v @1 gwt 18 e 31 Rd @
AMFAUPBTRE YT & =0 & wr=ran firelt | afde & Faa 40% YRS ot argumar 31 safer) gust yrarsi &
T & o +E wau™ 391 | &Y & srarar, 21 3R UTWISH B WiAUT gRT Srgfua Wrr &1 gwt fean
AT 8 | TS & q1g & ARG auy § ) o1 IR & | A1t o= 3t SR 78 ot 1)

¥z R TG F R2a: Fx 3R I59 & S F Rxal F gaefea I gardt aita srawin &1 3k aa frar 21
SATATE & 91¢ TP dd JHY a9 YR & SIS el § $5 3R 7o & TP 8 el ) IRPR g Hedt A
A fel uRa # o109 $t dFurel gadt f 39 A # % MOR SRR I WER & AFUSRI Ft
Jraga Bedt 4t I WPR gRT sRI-A Wt T@ufear fiem w o3 Isul w wgufa wre ang 1 e
ST AT

1989 & 91¢ ¥ Fx T TSTUT PR BT G TaT| 3P URUIEGRSY Iog IRBR Pt W@rawal & T iR
T H ATieR! B A5 uRuTdl IE g3 1 VAT H§T o Tl @ b 3@ YRd A THig a1 $8t Siftd vad g3
211991 Pt FTHUFT & AR YRA F 1500 -3 HTUTE § | 371 OIS Bt $© YT UTwIsi & agg o
@1 T 81 31870l & ford Wierq s, woreht, g o, oeiadl, Ioredrh, ofieht ok #3 sr=r wrwrait &1 &
¥ Igg ¥ @1 T 31 Al ymwrel & g 9 & arg ot uRa d 114 =71 YTt €1 399 | 22 HTwsH &t
ﬁ?%mﬂaﬁzﬁmwsﬁaﬁmﬁwwél 3T HTHTSHT P 31-3Ifera HTST el
AT 8|

ST TR Y USRI T U= o1 Ik qa1su |
Y YN, ST, TP, 3Mfe & ATUR TR 5780 § b1 Il &7 T8 g2
1. Had AR S

2. HId IRTS
3. I IILS

4, Iqgad Tt

Correct Answer :-

- Sugaa

23) TUR <X H Aihdiis oIawIT BT Ugelt Bl U a9 §5 o HIHT U MR sl BT TS gaiT | Tar
gaferd far Tar a1fes Te & UTHT Fia aTd AT U &1 X1od W I b | TS ISdl BT TS HIHT & YR W)
2t afep N, ST, Tpia, e F YR W g3, I ANTd'S, IWIES R RS | YR Jg B
Tt wfiem f gt @t W Aifd) sEr @iy A et off w1 g v @1 gwt 16 e 31 R @
AMFAUPBTRE UTHT & =0 & wr=ran firelt | afde & Faa 40% YRS ot argumar 31 safer gust yrarei &
T & o +S wau™ a1 | S & srarar, 21 3R UTWISH B WiAUT §RT Srgfua WT &7 gw fean
AT 8| TS & a1 & ARG auy § ) o1 IR-E & & 410 9= 3t SR 1) a1t )

Fg MR T5U & R2a: Fx o I59 & 9 & Redl & gfed ¥ gurt g saqwam &) 3R ad e 31
JTITE! F 91¢ UP da THY 9P HIRA & saTeTar 3l # &g iR Iy § v €1 urdf &t IRPR g3 Het At
3 e WRa ® S B AT gadt A 3T A § $% WOR SR I WHR & AISRIT 31




AT Bl AT 1 Iy WBR GRT SRI-A W Tufear i@ W &% wval W agufa e+ arg &2 fau
ST T

1989 & TG ¥ % T MU WRPR BT &R TaAT| §HP UNURGREY ] IRBR Ht WAl S T R
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¥ Igg H @1 T 31 Al yrwrel & I 9 & a1 ot uRa A 114 =1 WTOTE €1 399 | 22 HTwnei &t
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ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|

Y: $g 3R I F AT F Rxal & gfe A aia sgawar &) iR w1 fyan
1. 919

2. dcf

3. URMAA

4. MG

Correct Answer :-

24) TUR ¢ § AGdiiAD AT Bt Ugal Hol UG Td §5 oId UTHT TR SATYTRG AT BT TS g3HTI U7
gt foram T aifds T 81 HTHT S aTat AT U &1 IS0 | 3§ b | TO I BT TS YT & ATYR IR
T8 afep e, AT, Tpfa, e F MR W gam; I ANd'S, IWIES R FRTS | YR W9 B
oot wdiem At gt B yrer Aify) gER WRuE A FA of ure Y g urer &1 gof T e @1 ’&E @
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AT 8 1 ATSITEL F a1 & ARG auy & ) &1 IR-FE & & 41t o3 3t S 78 #t v

F5 R T F R b 3R ¥ & 9 & Rzal F gl § gArR) Gy sgawr &1 3R g« e 21
TS F TI TP 9a THT 9F YR P ISR ol | bg 3R 39 & T & urdf &) IR gon ot ot
3 Al yRa | S99 ot @il gadt F 39 A % WER SRR IT69 WIR & ATUSRT
JageT Hat At I WHR gRT SR f Wufear @™ w® #F wsaf w wgufa 2 oy = fea
ST AT

1989 F 1¢ A g W TEaYT PR BT g TaAT| TP URUTHRGTY IoT IRPR $1 Wrawdl & T 3R
T H AgieRt B A3 uRurd 3 g3 1 U1 H9T o Aohar ¢ % 3@ YRa A Tty srawi w1 e yad g5
211991 B} TUMT & AR URA H 1500 ET-SET HTHTE &1 FT HTHTSH B $© BT YTuiahi & Jqg o
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F Tgg o @1 T 31 fafte yrwiel & 9 9 & a1 ot yRa A 114 g1 YTOTE €1 399 | 22 HTwnei &t
ﬁﬁu;%msa%zﬁemﬁaweﬁaﬁﬁwﬁww%l 3T HTHTSHT BT S-S HTHT Hal
EIGI]

ST TR B UghR -1 IS T U= HT Ik qa13¢|

T TR AU 3 5 HTeT Y g uren 31 g 3 32
1. 3SH

2. Bt

3. dffre



4. fodfl ot i 76t

Correct Answer :-

- fodi ot ot 78T

25) TUR <X H Aihdifs oIawIT BT Ugelt Bl WIS a9 §5 oI HIHT U TR Il BT TS gaiTl Tar
i foram war aifds T € UTHT S a1a AT U €1 IS0 W 3§ AP | O ISl BT TS YT & TYR TR
8t afep N, ST, Tpid, e F YR W ga; I ANTd'S, IWIES R FIRTS | YR Ig B
Tt wfiem f gt @t Wi Aifa) sEr Ay A et off wren @1 g v @1 gwt 18 e 31 Rd @
AMFAUPBTRE YT & =0 & wr=ran firelt | afdes & Faa 40% YRS ot argumr 31 safer gust yrarsi &
T & o &S wau™ a1 | &S & srarar, 21 3R UTHISH Bl WiAUT gRT Srgfua Wrr &1 gwt fean
AT 8 | TS & q1g & ARG auy § ) o1 IR & | A1t o= 3t SR 78 ot 1)

¥z R TG F R2a: Fx 3R 59 & S F Rxal F gafea I gardt aita srawn &1 3R aa frar 21
SATATE & 91¢ TP dd JHY a9 YR & SIS el § $5 3R 7o | TP 8 el ) IRPR g Hedt A
A fel uRa # o109 $t @ttt gadt f 39 A # % MOR SR I WER & AFUSRI Ft
Jragar Bedt 4t I PR gRT sRI-A Wt Taufear fiem w o3 Isul W wgufa wre ang % e
ST AT

1989 & 91¢ ¥ Fx T TSTUT PR BT G TaT| 3P URUIEGRSY Iog IRBR Pt W@rawal & T iR
T H ATSieR) B A5 uRuTdl IF g3 1 UFT H§T1 o Tl @ b 3 YRd A THig gaw1 $at Sife vad g3
211991 Pt FTHIUFT & AR YR F 1500 -3 HTUTE § | 377 HTHTSH Bt $© YT UTIsi & g o
@1 T 81 351870l & ford Wierq sy, wreht, g o, oeiadl, Ioredrh, ofieht ok #3 o=y wrwrait o1 &
& Igg § @1 T 31 Al ymwrel & g a9 & a1 ot uRa A 114 =1 WToTe § 1 399 | 22 HTwei &t
#ﬁ?%mﬂaﬁzﬁmwsﬁaﬁmﬁwwél 3T HTHTSHT P 31-3Ifera HTST el
AT 8|

ST TR Y USRI T U= o1 Ik qa1su |

wy: fEd & sramar framit o=a wTareH &1 SrRIRIT WTST BT guit feam T 32
1.21

2.13

3.22

4. 20

Correct Answer :-

o 21

26) TUR <X H Aihdifs oIawIT BT Ugelt Bl WIS a9 §5 oI HIHT U MR sl BT TS gaiTl TaT
gaferd far Tar a1fs Te & UTHT e aTd AT U &1 o § I b | TS ISdl BT TS HIHT & YR W)
2t afep e, ST, Tpia, e F YR W gam; I ANTd'S, IWIES R FRTS | YR Jg B
Tt wfiem f gt @t W Aifd) sEr @iy A et off w1 g v @1 gwt 16 e 31 R @
MFAUPBTE UTHT & =0 & wr=ran firelt | afdes & Faa 40% YRS ot argumar 31 safer gt wrarei &
T & o w3 wau™ a1 | &S & srarar, 21 3R UTWISH Bl WiAUT §RT Srgfua WT &7 gwi fean
AT 81 TS & a1 & ARG auy § ) &1 IR & & 410 5= 3t SR 78 a6t )

Fg MR T5U & RN2a: Fx o I59 & d9 & Redl & gfed ¥ gur) g sagwar &) 3R ad e 31
TSI} F 91¢ TP da THY 9P HIRA & saTerar 3l # &g iR Iy § veh €1 urdf &t IR g3 Het At
3 e WRa ® S B AT gad A3 A § $% WOR SR I WHR & AISRI 31




AT Bl AT | Iy WBR GRT SRI-A W Tufear i@ W o5 wval W Agufa T+ arg & fau
ST AT

1989 & TG A % T MU WRPR BT &R TaAT| §HP UNURGREY g IRBR t WAl S T R
T A ATierR) B A5 uRuTdl IF g3 1 V9T 8T o1 Tl @ b 3@ YRa A THig uawi1 $8t Sifte vad g3
211991 Pt FTUFT & AR YR F 1500 -3 HTUTE § | 37 HTHTSH $t $© GBI UTwisit & g o
T T B | ITeR01 & ford wierg sy, wneht, Searast, Biianrel, vorri, et 3fik &5 3= urwnafi &1 f&dh
¥ Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 114 g1 YT €1 399 | 22 HTwnei &t
ﬁ?%mea%zﬁsaﬁﬁawaﬁaﬁmﬁmw%l 3T HTHTSH BT S-SRI UTST HaT
STl

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|
wy: &Y fra wiamma uRedal &Y arqurem 32
1.30%

2.10%

3. 40%

4. 20%

Correct Answer :-

o 40%

27) TUR X H AhAiiNd aRIT Bt Ugal B3t URIST a9 §3 od HTHT IR TUTRA IS} BT TS+ g3l Tar
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1. FUfd 2R

2. YT WHR

3. HeUHd PR



4. §gUd Bl DR

Correct Answer :-
o TTEEYT WPR

28) TUR X H Aihdifs oIawIT BT Ugelt B! WIS a9 g5 oI HIHT U TR Il BT TS gaiTl Tar
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wy: fafte yrwrel & uE a9 & a1 ot yRa A fhasit g ymTe 82
1. 105

2.102

3.110

4. 114

Correct Answer :-

- 114
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1. ORaH Bt
2. fore &t
3. dcH Bt
4. Y1y &1

Correct Answer :-

. YU DI
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3. 3rgSdl & forw



4. Uh UTNT-HTS S 38
Correct Answer :-

Topic:- General English(L2GE)

1) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution
on motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and
consider themselves heroes just like in the movies. Today, our industries and transport
depend heavily upon petroleum products which are non-renewable. The facts and figure
show us that petroleum products are fast depleting. So there is a need to conserve them. As
students, what is our role in conserving the sources of energy? Students should learn the
ways of conserving these sources and create awareness among the people at the same time.
They should set examples themselves by conserving energy. One way to do this is by
travelling to and from schools/colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and
instead use the public transport system for the same because cars consume more petrol
comparatively. Students should use fans and light at home, only when they are absolutely
essential. They should urge schools/colleges authorities to ban the use of motorbikes in the
school/college premises. Isn't it time we do this to conserve energy sources? For, it is in the
hands of the youth to begin this project.

What can students do to conserve energy?
1. Not go to college

2. Travel by bullock cart

3. Go by bus

4, Use cycles and go on foot

Correct Answer :-

« Use cycles and go on foot

2) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution
on motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and



consider themselves heroes just like in the movies. Today, our industries and transport
depend heavily upon petroleum products which are non-renewable. The facts and figure
show us that petroleum products are fast depleting. So there is a need to conserve them. As
students, what is our role in conserving the sources of energy? Students should learn the
ways of conserving these sources and create awareness among the people at the same time.
They should set examples themselves by conserving energy. One way to do this is by
travelling to and from schools/colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and
instead use the public transport system for the same because cars consume more petrol
comparatively. Students should use fans and light at home, only when they are absolutely
essential. They should urge schools/colleges authorities to ban the use of motorbikes in the
school/college premises. Isn't it time we do this to conserve energy sources? For, it is in the
hands of the youth to begin this project.

What do motorbikes symbolize to students, according to the writer?
1. Power

2. Transport vehicle
3. Fashion

4. Channel

Correct Answer :-

e Fashion

3) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution
on motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and
consider themselves heroes just like in the movies. Today, our industries and transport
depend heavily upon petroleum products which are non-renewable. The facts and figure
show us that petroleum products are fast depleting. So there is a need to conserve them. As
students, what is our role in conserving the sources of energy? Students should learn the
ways of conserving these sources and create awareness among the people at the same time.
They should set examples themselves by conserving energy. One way to do this is by
travelling to and from schools/colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and
instead use the public transport system for the same because cars consume more petrol
comparatively. Students should use fans and light at home, only when they are absolutely
essential. They should urge schools/colleges authorities to ban the use of motorbikes in the
school/college premises. Isn't it time we do this to conserve energy sources? For, it is in the
hands of the youth to begin this project.



What is the main risk they take?

1. Travelling by bicycle

2. Taking shortcuts

3. Speeding and overtaking heavy vehicles

4. Slow driving

Correct Answer :-

« Speeding and overtaking heavy vehicles

4) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on
motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and
consider themselves heroes just like in the movies. Today, our industries and transport depend
heavily upon petroleum products which are non-renewable. The facts and figure show us that
petroleum products are fast depleting. So there is a need to conserve them. As students, what is
our role in conserving the sources of energy? Students should learn the ways of conserving these
sources and create awareness among the people at the same time. They should set examples
themselves by conserving energy. One way to do this is by travelling to and from
schools/colleges either on foot or by bicycle instead of using fuel burning vehicles. They may
urge their parents to minimize the use of cars for traveling and instead use the public transport
system for the same because cars consume more petrol comparatively. Students should use fans
and light at home, only when they are absolutely essential. They should urge schools/colleges
authorities to ban the use of motorbikes in the school/college premises. Isn't it time we do this
to conserve energy sources? For, it is in the hands of the youth to begin this project.

Whom do they compare themselves with?
1. Adventure lover

2. Dare devils

3. Sports people

4, Movie heroes

Correct Answer :-

« Movie heroes

5) Read the following lines of a poem and answer the question given below it.
I can hear them
And they're no longer there,

Crying for a hand



That I couldn’t spare.

I can see them,
Though I will not look,
Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

According to the poem, the poet
1. All of the above

2. could not spare a hand

3. did not stay

4. did not look

Correct Answer :-

o All of the above

6) Read the following lines of a poem and answer the question given below it.
I can hear them

And they're no longer there,

Crying for a hand

That I couldn’t spare.



I can see them,
Though I will not look,
Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

The poet could them?

1. See them but not hear
2. Hear, see and feel
3. Hear them but could not feel

4. Hear them but not see

Correct Answer :-

» Hear, see and feel

7) Read the following lines of a poem and answer the question given below it.
I can hear them

And they're no longer there,

Crying for a hand

That I couldn’t spare.

I can see them,

Though I will not look,



Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

What could the poet not spare?

1. Clothes
2. Money
3. Help

4. Time

Correct Answer :-

« Help

8) Read the following lines of a poem and answer the question given below it.
I can hear them

And they’re no longer there,

Crying for a hand

That I couldn’t spare.

I can see them,
Though I will not look,
Reaching for the time

That I never took.



I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

Is the poet happy that he helped someone?

1. No, because he did not help even one person
2. Yes, he did not have to help anyone
3. Yes, he helped many people

4, The poet is neither happy nor unhappy

Correct Answer :-
« No, because he did not help even one person

9) Choose the appropriate synonym for the highlighted word in the given sentence.

Meditation is the absolute solution for finding out the inner peace.
1. outright

2. approximate

3. limited

4, accountable

Correct Answer :-

e outright

10) Fill in the blank with the most appropriate conjunction.



My teacher calls me on stage whenever there is an event _____ | speak well.
1. because

2. but

3. and

4. so

Correct Answer :-
e because

11) Fill in the blank with the correct option in the given sentence:

The were assigned hard tasks during their probationary period.
1. trainee
2. trainer
3. training

4, trainees

Correct Answer :-

o trainees

12) Choose appropriate articles for the given sentence:

As ____ election gimmick, ____ government has announced ___ savings scheme for senior citizens.
1. no article required, a, the

2. a, an, no article required

3.an, the, a

4. the, no article required, the

Correct Answer :-
e an, the, a

13) Choose the appropriate option that rewrites the given sentence in its active voice.

Tea is being brewed in the kitchen by the husband.

1. A husband was brewing tea in the kitchen.



2. Husband brews tea in the kitchen.
3. The husband is brewing tea in the kitchen.

4. The kitchen is brewing tea by the husband.

Correct Answer :-
« The husband is brewing tea in the kitchen.

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

Myfriend _ onaholidayinGreeceand______ agreattime.
1. has gone, has had

2. is, is having

3. is going, had

4. shall go, shall have

Correct Answer :-

« is, is having

15) Choose the appropriate antonym for the highlighted word in the given sentence.

Orthodox Jews observe strict dietary laws among other things.
1. Customary

2. Unconventional

3. Rationalistic

4. Traditionalistic

Correct Answer :-

¢ Unconventional

16) Choose the appropriate pronouns for the given sentence:

should take care of own parents during old age.
1. We, our, their
2. She, her, her

3. I, my, mine



4. He, his, his

Correct Answer :-
* We, our, their

17) Choose the appropriate prepositions for the given sentence:

It is polite to greet your colleagues first thing the morning you begin your
routine.

1. by, after
2. on, before
3. before, after

4. in, before

Correct Answer :-
e in, before

18) Choose an appropriate modal for the given sentence:

Looking back, IfeltthatI _  have helped her in her time of need.
1. must

2. should

3. shall

4, can

Correct Answer :-
e should

19) Choose the option that best explains the highlighted expression:

When the deadline neared we had to get down to brass tacks and complete the project.
1. had to outsource work

2. to get serious

3. be all eager

4, worked in a team

Correct Answer :-



e to get serious

20) Choose the option that best combines the given sentences.
He does not like reading. He does not like playing.

1. Neither he likes reading nor he likes playing.

2. He neither likes reading nor playing.

3. He likes neither playing or playing.

4. Reading or playing is liked by him.

Correct Answer :-

» He neither likes reading nor playing.

21) Choose the option that best transforms the sentence into its Indirect form:
‘Do you want to have some more soup?’ My host said. ‘Yes, please.’ I replied.

1. When asked do you want some more soup, | said yes, please.

2. My host offered me more soup and | accepted it.

3. My host was offered me more soup and | accept it.

4. Host said that if | wanted more soup and | accepted it.

Correct Answer :-
e My host offered me more soup and | accepted it.

22) Choose the option that substitutes the given phrase appropriately.

The act of determining the identity of a disease, illness, etc. by observing its symptoms
1. Discriminate

2. Analysis

3. Research

4. Diagnosis

Correct Answer :-

+ Diagnosis

23) Read the sentence carefully and choose the option that has an error in it:



Even though my friend considered a career in economics, he finally decided on a physic major.
1. Even though my friend

2. considered a career in economics

3. a physic major.

4. he finally decided on

Correct Answer :-
e a physic major.

24) Change the given sentence to Indirect speech.
"I am waiting at the bus stop,” he said.

1. He said to me that he was waiting at the bus stop.

2. He said to me that has been waiting at the bus stop.
3. He said that he will be waiting at the bus stop.

4. He said that he is been waiting at the bus stop.

Correct Answer :-

» He said to me that he was waiting at the bus stop.

25) Fill in the blank with the most appropriate preposition from the options given.
Arun cleaned his room by stuffing everything his bed.
1.in

2. along

3.0n

4, under

Correct Answer :-
o under

26) Fill in the blanks with the correct option in the given sentence:

Educat-- are concerned with the high rate of illter-- among adults.
1. --es, --ation
2. --ion, --ates

3. --ors, --acy



4. --ional, --acies

Correct Answer :-
e --Ors, --acy

27) Fill in the blank with the correct option in the given sentence:

When a person has too much emotion, we call him_--emotional.
1. extra--

2. over--

3. un--

4. in--

Correct Answer :-

28) Choose the most appropriate determiner in the given sentence.

Bangkok is __ capital of Thailand
1. an

2. the

3. no article required

4. a

Correct Answer :-
o the

29) Choose the right tag:

Sita got married last month, ?
1.isn't she

2. is she

3. didn't she

4, did she

Correct Answer :-



e didn't she

30) Read the sentence carefully and choose the option that has an error in it:

When preparing dinner, my mother often rope in my sisters.
1. in my sisters.

2. my mother often rope

3. When preparing dinner,

4. No error

Correct Answer :-

* my mother often rope

Topic:- Social Science (SSC)

1) A situation where the number of workers employed in a job are much more than actually
required or in other words a segment of the population not employed at full capacity is known as

. | T fRufar wigt fpelt w1 & @ e siftret &t e ara o smazas | oiftre gt 8 ar
ngmmwﬁwmwmwmﬁqﬁmw g, 39 FEUH
CIGIRCIGIE

1. Involuntary unemployment / 33 H SRISHIRY
2. Voluntary unemployment / ﬁfm CRUSHIR]

3. Structural unemployment / TRAATHD SRISHTRY
4, Disguised unemployment / Y99 CRUSHIR]

Correct Answer :-

 Disguised unemployment / U=9¥ SRISTTR]

2) Who believed that learning should be ‘the realization of one's full potential and the ability to
use those skills for the greater good’? / f&a®T AT AT f 3iftrmw, fpft &5t @t e ok ot @
3P S P 1T 39 DI BT IUUNT HIA B &HAT BI UIfQr T ATRY?

1. Dr. Y. K. Singh / €. 918 . Rig

2. John Dewey / iG] 53;

3. John V. Michaela / S Eﬂ ﬁl’-‘ﬁ?ﬂ
4. Charles Beard / I8 f9ge

Correct Answer :-



 John Dewey / S s‘s‘

3) BPL stands for . | Srdiva &1 favga &u 2l
1. Base Poverty Line /éﬂauﬁé’fals‘ﬂ

2. Base Price Line /é“er Eﬂgﬂ aléq
3. Below Poverty Line / ERIEIEE Fll'scq
4. Below Poverty Level / CRIRIEEASELN]

Correct Answer :-

« Below Poverty Line / foar faef Fllé:i

4) Which among the following is the main industry of the MENA region of the World? / fRafafaa
# ¥ P 91 fay & BT (THSTAT) &5 T &7 ST 82

1. Tourism & Hospitality / e 3R sifa
2. Mines and Minerals / 9T GaT Qo]

3. Petroleum / ﬂ?ﬁﬁﬂﬂ

4. Manufacturing / fafmfor

Correct Answer :-

o Petroleum / ﬁzjﬁmq



Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadiri

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| FFEATITRET gr Fal T 34 [Aoiddr & HeleT &3

1. s Jitferar | AL serEdr
2. SEI3EId SARIIT | B. Hed

3. 3gHAC Tg=ar C. faredy
4. Ao #R D. gg3arsr

b=

1. 1-B,2-A,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-A,2-B,3-C4-D
4. 1-C,2-D,3-A.4-B
Correct Answer :-

« 1-C2-D,3-A4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East
Coast. Which among the following is a correct order of the ports of India coming on the way? /
TS TG U & Uil e W Hisdl 9¢37e ¥ Ydi d¢ UR HIadbTal 968 & g Uit 9 IR= &edl
21 Frufafad § @ 919 T § 3 a1l YR S U §eel $1 T I8l 4 82

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / H_Gl?gc, ﬁ%ﬂ‘rr, Wﬁ:{, Q§i|'\’, IR
2. Mumbai, Mormugao, Cochin, Ennore, Chennai / Ha’_‘s:, lﬂmaﬁ, ﬁfﬁ:{, Q'._>i|€, %ﬁrs“

3. Mumbai, Tuticorin, Ennore, Chennai, Vishakhapatnam / @g, Wﬁq, Qﬁl?, %‘?rs‘,
ICEULCIERRE]

4, Chennai, Vishakhapatnam, Haldia, Paradip / aﬂé, ﬁww, E'%C'@IT, URIGIY



Correct Answer :-

e Mumbai, Cochin, Tuticorin, Ennore, Paradip / Ha's‘, ﬁ%ﬁq, ?‘ljﬂﬁﬁ:{, Qﬁl?, URTGIY

7) In the sea, plants are restricted up to the depth of . | % ¥, diel @Y e, GEg
ufasfia g1

1. 1000 meters / 1000 Hiex

2. 200 meters / 200 Hiex
3. 20 meters / 20 Hiex
4, 2000 meters / 2000 Hex

Correct Answer :-

o 200 meters / 200 Hiex

8) The gold coins of Vijayanagara empire was not called as / fASaTR I9T0 & 91 & Raw! ot
g el Hel oITar U7 :

1. Hon/Eﬁq

2. Varaha / dR@l

3. Gadyana / 70T
4. Niska / %1

Correct Answer :-

o Niska /%1

9) When did the National Food Security Bill introduced in India? / HIRd | ?T@TI' el
& fatras wa uwga fvar mare

1. 221 December 2011 / 22 f&H®R 2011
2. 227 December 2012 / 22 TGTaR 2012
3. 22" December 2014 / 22 faTaR 2014
4. 22" December 2013 / 22 fa¥aR 2013

Correct Answer :-

« 227 December 2011 / 22 f&TsR 2011



Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his materials
(pupils) according to his ideals (objectives) in his studio (school)”?

| frem &1 T uTeuTal te FateR (Rieew) & g1y § Hivlg 98 ¢d & fonTd a8 s+
& @@e) & 3= e (ITTAT) b STAR -t qrEh (rentda) @) era g

1. Munroe / H:R}f

2. Arthur Cunningham / 3T R B
3. Robert Dahl / I8¢ ST8d

4. H. L. Laswell / Td, Td. NIE]

Correct Answer :-

o Arthur Cunningham / 3T R Hiad

11) Who described the role of Prime Minister as ‘the linchpin of Government’? / faa

FUTTHA Bt YT B PR 1 fFafi= (Y& &1 siay sarn
1. Jawaharlal Nehru / STATgR @Td A6

2. Alladi Krishnaswamy Iyer / I W HER
3. Dr. Rajendra Prasad / cif zléa Udlq

4, Sardar Vallabhai Patel / 9XGIR GIQ’Q’I“-l'I_Sc Ucd

Correct Answer :-

« Jawaharlal Nehru / STdTgR AT g3

12) Only two Asian countries are in IGW country club of Geothermal Installed capacity.

Which are those Countries? / %ad & TRTATS &1 'l{;?'l'l'ﬂ'q TRITIUT &WaT & 1GW =T Feq o
AN PAG?

1. Malaysia and Singapore / TafRmT 3R RITMQR
2. Indonesia and Philippines / SSHIRMT 3R fhaiidia
3. Laos and Cambodia / T3 3R dalfear

4. India and China / YRd 3{R T4

Correct Answer :-

« Indonesia and Philippines / SR 3R fWrefidia

13) Committee referred to criminalization of politics hinting at close nexus that
has come to prevail between the politicians and the criminals. / gifa A IeIfd &



RTENHI0T &1 fores far, S Adraii 3R sraRifera) & di= gy ddy 3 9= Smar gl
1. Santhanam / JYTH

2. N.N. Vohra / U-. T, EﬁBTr
3. Shri K. V. Chowdary / it &. &t. Tlert

4. Shri Sharad Kumar / oY MG PHR

Correct Answer :-

« N.N. Vohra / Q. Q. EﬁETr

14) are societies which offer credit facilities for a short term to the farmers. /

3§ o e @Y Sreuaf & g o gt ver e #
1. Programme for Agricultural Credit Supply (PACS) /?ﬁfﬂ e—rrgﬁ%ﬁmwﬁwq (Cﬂ'Q?ﬂ'Qﬂ)
2. Private Agricultural Credit Societies (PACS) /ﬁﬁﬁwwm (WW)
3. Primary Agricultural Credit Societies (PACS) /WWT&[W giHfaai (Cﬁ'Q?ﬁ'@)
4, Personal Agricultural Credit System (PACS) / i1 ?ﬁf U Ul (tﬂ'Q?ﬂ'Qﬂ)

Correct Answer :-

« Primary Agricultural Credit Societies (PACS) /QT%I'W ?ﬁf Irg giffaat (Eﬂ'Q@W)

15) is a writ issued to restrain a person from acting in a public office to which he

/she is not entitled. / it sufad &1 39 Ardui-1e FTad 8 B4 $31 A AdA
& fRrg e faran wan urewr (fRe) & forae a8 st 161 31

1. Mandamus / TRATCY
2. Quo warranto / 3fYHR P3|

3. Certiorari / I
4. Prohibition / UTSY

Correct Answer :-

« Quo warranto / 3TIBR Y31

16) Howard Gardner proposed: / 3-131%; MR A yanfad fear T

1. Theory of multiple intelligence / El_g'-dallr&dMI &1 Rigid

2. Two-factor theory / G-PR® Ngid
3. Multi-factor theory / dg-P R Rigid



4. Group factor theory / W HR® Rigid

Correct Answer :-

« Theory of multiple intelligence / EIE-@@WT P RIgid

17) A social science teacher is expected to be an epitome of democratic virtues. Which

among the following is a democratic virtue? / GIESED ﬁ?l'F‘l' & e o AlpdiAd '{[Uﬁ
BT Udte |11 STt ¢ | FRuafefad 7 @ «ar ve dedife qure?

1. Students have the liberty of attending the class at any time / faenffal o1 fordlt oft T wen &
IURRY B Bt WG B

2. Distribution of questions among the students / foenfat & wsif &1 faawon

3. Accepts and invites differences of opinion from the students in a positive way / PIRIHD =Y

3 faenfial @ aanel &) WieR BT § 3R HAT HRAT 5|

4, Maintaining strict discipline in the classroom / D&l T e SR dqTY XGT|

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way / HPRIHD =Y

Y faenffal @ wave) & TWeHR HRd1 7 3R MHAd R gl
18) The major demerit of lecture method is: / SIS fafer &1 LR CCRE R &
1. It is a time consuming process / g T HHY NEGINIRCIER % |
2. It reduces the attention span / dg &I 3qfY HH P a?ﬁ %I

3. It encourages learning through divergent thinking / g faaferd feida & wregd 4 Sifer &
Tieafed &l g

4. Tt discourages self-effort by the student / T8 BT GRT M-I &I galIed HRdl gl

Correct Answer :-

« It discourages self-effort by the student / g ST gRT HATH-UITH B Sd\ld-lli%d Bl %I

19) The purpose of punishment is to decrease the frequency of behaviour. / FGIT BT

SEXA___ AAER P AR B HH BT 21
1. learned / ST

2. undesirable / TSI

3. positive / YD RIHD

4. desirable / I



Correct Answer :-

. undesirable / AT

20) The is indeed the foundation of socialization because it is the first contact of
the child. / qIETd A AR Bt 19 g, Fife gg fHdft 9= &1 ugan 9ud
gar gl

1. neighbors / tl@lﬁf

2. family / TRAR

3. peer group / GEE| dHe
4. environment / JITA0T

Correct Answer :-

o family / ORAR

21) The Constitution has fixed of the total membership as quorum for both Lok

Sabha and Rajya Sabha. / AT A AHaHT e—ﬁvmmaﬁr%ﬁ—mmm
@R S EUApaAeRa o1 fuika fear g

1. half / 31T

2. one-tenth / Yh-Gdl
3. one-fourth / W—Eﬁ?ﬂg
4. one-third / Wﬁ‘e’l‘s‘

Correct Answer :-

« one-tenth / Th-GHa]

22) Group activities are the cardinal exercises in collaborative learning, which are aimed to:

/ g forareary arfee g § g@r snarg g, forme 3exa i 6:
1. Boost pride among the students / faenfial o srafoym dell

2. Reduce the burden of the teachers in their instructional style / fRrefpl & Eﬁg CARCE |
RIS Qell & 1 BT

3. Make the classroom active and participatory in nature / P&l Gal Hq)i?l 7 Ifgpg 3R JeHT
CRIEI

4. Generate synergy among the members of the group / HHg & Yo & dfld drerie g

Correct Answer :-



« Generate synergy among the members of the group / HHg & G| & S drerdd ST

23) Which Five Year Plan was drafted under the leadership of P. C. Mahalanobis? aE kil

Yaadfa gier d. 3t ggraifeN & g § dur 3t g A9
1. Second / it

2. Fourth / el

3. Third / Jdd

4. First / UYH

Correct Answer :-

o Second/ @T‘ﬂ'q

24) Which of the following is commonly used to record the informal teacher observation
regarding students in and outside the classroom? / PO IUaRT IHTIa: HET & e
3R areR faenfial & fawa & sFiwaie Rrare saeaie Rels o1 & fg fear smar
82

1. Cumulative record / Fad Reble

2. Checklist / SiTa-gdT

3. Rating scale / hH IEERUEEIG]

4. Anecdotal record / SUREFIH® RPbIe

Correct Answer :-

« Anecdotal record / SURHMTED Rble

25) Which among the following is typically used to display all kinds of creative works of

students in the classroom? / D&l ﬁﬁmﬁtﬁ%mﬂm%mﬁaﬁw&h
oA & fore FFaferfeaa o & feae Sy faflkw wu A fear smar g2

1. Flannel board / Fa-Td 18
2. Black board / W CIE]
3. Peg board / U]

4. Bulletin board / gﬁﬁq CIE]

Correct Answer :-

- Bulletin board / §aifcA 18



26) Where do Nyaya Panchayats prevail? / <910 UdTdd ®gi Wdferd 82
1. District / forar

2. Village / g

3. Block /®_Q"IV'I$

4, Corporation / e

Correct Answer :-

 Village / g

27) How can a social science teacher effectively and experientially transact the concept of

sustainable development among students? / Y IS ED ﬁT\FIT-'-I Rrge faenfdal & waa
e o1 AURUT H TUTE 3R SUATHS 7T A FJ Y HT Jhdl 82

1. Conducting brainstorming session on sustainable development / Hdd EEARR g&q\lt}l\fl@
(SFTCITHT) T TaTferd HR |
2. Showing a movie on environmental preservation / gfaror TR0 R Th fhe fe@max |

3. Undertaking a field trip with the students to an ecological hotspot / faenfdal o Ty U
UIRFRRUfAH1 glewie R U &7 T bl Gl dh |

4. Delivering a lecture on sustainable development / ddd P IR RS ¢ |

Correct Answer :-

« Undertaking a field trip with the students to an ecological hotspot / faenffal & Try Udh
TR gicUic TR T &7 11 b1 &Il AR |

28) How many types of urban local governments currently exist in India? / HIRd H qdu=
# fPaa TR 31 e WG WA 77

1.6

2.7

3.3

4.8

Correct Answer :-

29) According to the State Banks (Repeal and Amendment) Bill of 2017 which among the following
subsidiary banks of SBI ceased to exist? / 2017 PR dh (ﬁw=r 3R ﬂ"siﬁ‘iFT) fAdus & SAR
Tadtang & Fafafad dicer gerae o) & 3 #1991 93 8 9Irm?



1. State Bank of Karnataka / TC I 3B HACH

2. State Bank of Punjab /@? & 3 USTTE

3. State Bank of Meghalaya / We o 3Hh AETad
4. State Bank of Travancore / T db T AGUIBR

Correct Answer :-

o State Bank of Travancore / TC % 3T FATAUHR

30) What does Pir mean in Sufi tradition? / ?Iqa W1 A 1R &1 a7 o T;ﬂT'IT %?
1. Supreme being / USHIHT
2. Greatest of the Sufi saints / E[Cl'ﬂ ol # gad 7™

3. None / ﬁ?gc :%)[
4. Spiritual Guide or Elder / 3TeATfdd ANiaRi® a1 w

Correct Answer :-

« Spiritual Guide or Elder / 3T&fdI® ANTGRI® a1 goffi

31) What is not true about Raja Ram Mohan Roy? / XTSIT XTH 'Fﬁﬁ IS IR A FTII 7‘|'{ﬁ %?
1. He abolished sati system. / 3gi Tclt UUT B FHT fobar|

2. He founded Banaras Hindu University. / B@ef JdqRY %‘g{ ﬁ%lﬁ?l’lﬂ’q P RITTT B |

3. He founded Brahmo Samaj. / IBiH T GHIS DI RYTTAT D |

4. He was an advocate. / 98 U adid |

Correct Answer :-

« He founded Banaras Hindu University. / 381 §-RY %@ﬁ%ﬁw DRI B |

32) What is true about Simon Commission recommendation? / JIgHA HHIYE B BRI & aR o
T I 32

1. Abolition of Sati / Tt UT BT eI
2. Abolition of legislature at Centre / &% & fauTRI®T &1 34
3. Abolition of Child marriage / dTd faarg &1 IHA

4. Abolition of Diarchy / & R ®T 3@

Correct Answer :-

« Abolition of Diarchy / S T & ISP Skl



33) Bhakti cult was spread in Maharashtra with the teachings of ./ & UM | Ui vy
HeRTE # e T

1. Tukaram / JPIRTH
2. Jyaneshwar / IR
3. Ramdas / XTHGIY

4. Chaitanya / ERR)

Correct Answer :-

o Tukaram / JPRMH

34) Quantitative restrictions imposed on imports to encourage domestic production are known

as ./ TR TS Bl AT B & AT AT W T T AATHS fdae i
& ¥ H ST ST 8

1. Tariffs / UR[eh
2. Subsidy / XISTG AT GISSED)!
3. Quotas / PIeT

4. Embargo / UUR PINEL]

Correct Answer :-

« Quotas / PIcT

35) First five plan was based upon which popular economic model? / UYH Ugayig g feg

i snfde aisd W smutia off?

1. Lewis Model / ﬂ’&fﬂ Hied

2. Mahalanobis Model / HETAIoN HISd
3. Cobb-Douglas Model /WVW-@W ared

4, Harrod-Domar Model / %il@—@ﬁﬂ? Arsd

Correct Answer :-
e Harrod-Domar Model / %il@@ﬁm Arsd

36) Which Sufi saint propagated that devotional music was essential for being closer to God? /T

gw! Ta A waR fFar fe ufe w@ifta, wem & w899 39 & e smaxas 32
1. Saikh Muinnuddin Chisti / [8 HIgTg A for=dl
2. Shekh Alam Bukhari / ]G 3fTd @:@T\Pf

3. Syed Muhammad / Fe HeHa



4. Kwaja Fariddudin / S3TSlT %Y E\Q'Fi |

Correct Answer :-

« Kwaja Fariddudin / SATST B G\QE‘H

37) Which were the two cave paintings of Gupta Period? / J[&I BT & 33[ eI ICECIEE: R
1. Ajanta and Bagh / 3fSidT 3R aTg

2. Ajanta and Ellora / 3fSidT 3R TaRT

3. Lomas Rishi cave and Bagh / @A Y w1 3R &1

4. Ellora and Bagh / Q?ﬁ?[ 3R 9™

Correct Answer :-

« Ajanta and Bagh / 3fSidl 3R €19

38) Which Women leader represented India in Second Round Table Conference? /frg afgaraara

fedia Maas W § YR &1 ufaf=ia fear
1. Sarojini Naidu / SRIFSHT A1Ig
2. Aruna Asaf Ali / 31SUIT 3T 37cit

3. Kamala Devi Chattopadhyaya / HdI odt Elé iy
4. Vijaya Laxmi Pandit / faorar @&t ufgd

Correct Answer :-
« Sarojini Naidu / RIS ARrg

39) Ryotwari System was first introduced by Thomas Munro in ./ mﬁﬁ IR a9 U8
YT GRI GRT o 3= &1 5 A

1. Bengal Presidency / STITd URitS !
2. Bombay Presidency / a1 iS4t
3. Madras Presidency and Bombay Presidency both / Fgr TS 3R aia OIS ot
4. Madras Presidency / TEN Ute

Correct Answer :-

« Madras Presidency / Ha Ut
40) Who won the ‘third battle of Panipat’? / qrud BT JHERT g’ ﬁ‘l_\qﬁ Siiar?

1. Hem Chandra Vikramaditya / g4 9% fawaifiea
2. Sher Shah Suri / ]R M8 T



3. Ahmad Shah Durrani / 3(8H& 218 g
4. Ibrahim Lodhi / 3siife® aidt

Correct Answer :-

« Ahmad Shah Durrani / 3{8H& T8 g1

41) Who was the founder of Tuluva Dynasty? / qd JTSTd =T & YRITIS HIF A2
1. Deva Raya I/ CeRER e

2. Virupaksha I1 / fasuref fgata

3. Tirumala Raya / fa¥dd I

4. Tuluva Narasanayaka / I IRIATID]

Correct Answer :-

o Tuluva Narasanayaka / Al TRIATA D]

42) Who was not the prominent literary figure during Babur’s time? / P gTeR & g | uqy

AT PR gl U1?

1. Khusrau / W

2. Mulla Shihab / Heell Higd

3. Sheikh Zainuddin / R Qe
4. Khwandamir / BAMGTHR

Correct Answer :-

e Khusrau / W

43) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? /

e wuTe fIgaR & MRS & SR B A1 391G g3 Beal-Fan
1. Vaisheshikas / =TI

2. Ajivikas / 3fSIfddr™

3. Nyaya /<IJ

4. Nityavadi / FHamardt

Correct Answer :-

e Ajivikas / 3ifoifaeTg



Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known as
Balkan countries. The term Balkan is derived from the following landforms? / GIWIﬁTIT

¥ 3R gorfaAT, gEnfar, wreflRmr, Wi, 3T anfe &) arew I & = & SET7 Srar
2| STewd Treg FRufefAd y-smefaa A  foraa forar war 82

1. A Lake / U SildI
2. A Sea / Udh UHgx
3. A Mountain / T% Udd
4. A River / U gl

Correct Answer :-

o A Mountain / Uch Udd

45) Which of the following is a pull factor for Migration to the place of Destination? / fafafaad
P T Tided RITH R YT F e Ue Yot baer (&ieq $1 HR) 82

1. Unemployment / SRISRTIRI

2. Peace and stability / ifer SR R

3. Political Turmoil / TSI geraal

4. Poor Standard of Living / DHHAR S TR

Correct Answer :-

« Peace and stability / ifd 3R fRRA

46) The nature of social science is best represented: / LILITED ﬁ?l'F-[ CJ| lﬂ?ﬁl Al ﬂﬂﬁ'ﬂ RG]
CRIRIREIG R

1. As a unified subject / T UbIpd [0 o &U I

2. As an independent subject / T T fowg & = o

3. As a dependent subject / Uch R o & wu d

4, As not a correlated subject / Udh He4dg [dvd & =0 U Tal

Correct Answer :-

« As a unified subject / T Udhldhd fA¥d & =q H

47) “To monitor daily performance and to encourage students to reflect on their own
learning.” This is the purpose of: / “%ﬁ$ uexi{ &1 e s 3R faenfial & wg $t
e ®) ywe FA & R wienfed #3A11 "ag A F13ERU 8:

1. Diagnostic assessment / eI 3




2. Anecdotal records / SURSHTHD Rbls
3. Non-referenced assessment / &maﬁfa ATh a4
4. Portfolio assessment / W STh

Correct Answer :-

« Portfolio assessment / W STh A

48) Sedimentary rock change to metamorphic rock because of which of the following

%rocess?/mﬂ?ﬁ,mﬁﬁﬂ?ﬁﬁmﬁﬁﬁ?ﬂma?wmﬁm
?

1. Re Crystallization / gﬂ%ﬁﬂw

2. Uplift Weather and Erosion / S&IT AH 3R 3UReA
3. Fusion / fderg

4, Burial-Heat and Pressure / Gt --dld 3R qld

Correct Answer :-

e Burial-Heat and Pressure / g --dld 3R qld

49) Which among the following is not an ideal teaching skill for a social science teacher? /

Frafafaa # O = v 9o fagm Riere & e ve smaxt Riaor Siwra T8 82
1. Optimal movement in the classroom while teaching / ﬁT&‘I‘UT & éRI'_‘I DET | VdH Tfdl
2. Eye to eye contact with all the students / gt faenffal & Ty siike T g Juch ST

3. Stimulus variation while lecturing / ST PR T d'E':Il-I"I |

4. Maintaining strict and rigid discipline in the classroom / P &I T e R PR SERUNEICEIY
REEEIN

Correct Answer :-

+ Maintaining strict and rigid discipline in the classroom / &Il 7 T%d 3R HIR S RRUNEICEIY
RECEIN

50) Which among the following is not a type of assignment in the strictest sense? /

Frafafaa 7 @ o1 faxs ordf A U UeR &1 JIagexH T8 82

1. Curricular assignment / TSR HH‘j&QI"I

2. Remedial assignment / SUARIHD {-IJ-I';J,E'(-‘QI'-I

3. Revision assignment / L;J,"IE’T@I"I {-IHjaQI"I



4. Preparatory assignment / URMA® WQFT

Correct Answer :-

+ Preparatory assignment / URT® Wﬂ:{

51) Globe is a classic example for: / g QHADT UD 3P ¥ 3aleXul %z
1. Projected aid / Lﬂéﬁg 1Y

2. Audio visual aid / 31S1 ﬁ@\’rﬂ 1Y

3. Graphic aid / DIE LS IE]

4. 3D aid / 3D HIYUA

Correct Answer :-

+ 3D aid /3D HIY4
52) CANCELLED

Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some
original functions and some agency functions? / AT BT ?ﬁﬂ 1 Glﬂ%_d g WP dIdl %
o vaTad T SRAT3H & O Y Fr 3R $O sifiewur (Teie) w1 82

1.243-E / 2433

2.243-G / 243-Sit
3.243-F / 243-T%
4.243-0 / 243-31

Correct Answer :-
. 243-G /24350
53) CANCELLED

Who among the following influenced the development of Project method?/ fafafaad g

faa ufvaerm ugfa & faera & gyifaq fearn

1. Socrates / JhId
2. John Dewey / S feat

3. Pestalozzi / UXdTATT
4. Comenius / CARIERL

Correct Answer :-



« John Dewey / Wi f&at

54) CANCELLED

The Foreign Direct Investment was increasedfrom__ during the implementation of

New Economic Policy in 1991. / 1991 § 75 3nfde fifa i ® sraad » AR Tae
= eI far mar uti

1. 50% to 70% / 50% I 70%

2. 40% to 51% / 40% J 51%
3. 30% to 40% / 30% T 40%

4.30% to 39% / 30% A 39%

Correct Answer :-

e 40% to 51% / 40% I 51%

55) In an ecotone, the species which become abundant are called? / T LrEgtica) (?ﬂﬂaﬂ) ﬁ,
3 yarrfaat ot v $iftre g1 wirdt 8, 38 FaT wrar 82

1. Edge species ) UST gt

2. Keystone species / B Faifaar
3. Endemic species / TSfHd Gorferdr
4. Foster species / IR FuTIfadl

Correct Answer :-

« Edge species / UST getTfaar

56) Which one of the following is slow downhill movement of debris? / fEddasadtwe
Iy Bt et srefivme iy 82

1. Creep /14

2. Earthflow / HqI¥dlg

3. Landslide / YRaaiq
4. Mudflow / U Ydig

Correct Answer :-

« Creep /iU



Which of the following country is the largest producer of Uranium? / Fafafead g o=

T ¢ W T G TST SUTGH 82
1. Kazakhstan / ®oRIEd™

2. Canada / TSl

3. Australia / 3Tecfer

4. USA / Ggad IsT 30T

Correct Answer :-

. Kazakhstan / SSTRIEIH

58) Which day is celebrated as Earth Day? / f&oq fa= G| q&ﬁ a9 & v ¥ wATar Srar 82

1. 22nd March / 22 |19

2. 5th June / 5 9[-

3. 16th September / 16 RdeR
4. 22nd April / 22 3

Correct Answer :-

« 22nd April /22 3

59) When was the Gandhi-Irwin Pact signed? / Tifl-33fa= WS IR $a gwdiar fHar mar ur?
1. 1931
2.1929
3.1935

4. 1932

Correct Answer :-

60) Per Capita Income =

/Hﬁﬁm:

Income

1 Employment rate

S



ISR R

National Income

Population

S S
ERELE
Taxable asset
3. Population
R U Hud
SR

Population

4, National Income
S
S 31

Correct Answer :-

National Income

Population



